
 1 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

Introduction / Comments: 
 

THIS LADDER RACK IS DESIGNED TO MOUNT TO THE FACTORY ATTACHMENT 
POINTS. REMOVE PLASTIC PLUGS TO INSTALL NEW RACK (SEE STEP #06).  
 
THIS RACK IS DESIGNED FOR AND RATED TO CARRY UP TO 24’ LONG EXTENSION 
LADDERS.  ROOF IS RATED TO CARRY UP TO 330 LBS TOTAL. BE SURE ANY LOAD OR 
LADDER IS PROPERLY SECURED TO THE RACK PRIOR TO MOVING VEHICLE.  
 
NOT FOR USE WITH SUNROOFS. 
 
NOTE : THIS RACK UTILIZES SPECIFIC STREET AND CURB SIDE ROOF RAIL ASSEM-
BLIES!!! 
 
Note: 
It is advised that all fasteners used in this assembly and installation of this Rack should be 
checked for tightness at the following intervals:  @ 2-weeks and again @ 6-weeks of opera-
tion. This preventive maintenance step must be completed to ensure your package gives you 
long service life. 

63-MM DOUBLE GRIP-LOCK & 61-MM SINGLE GRIP-LOCK 
LADDER RACKS FOR 2016 MERCEDES METRIS VANS 

63-MM 

61-MM 



 2 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

CAUTION 
THE USE OF AIR IMPACT TOOLS CAN 

OVER-TORQUE FASTENERS AND 
CAUSE FASTENER FAILURE! 

CAUTION 
ALL INSTALLATION HOLES SHOULD BE SEALED 
WITH SILICON OR BUTYL SEALANT TO PREVENT 
EXHAUST FUMES FROM ENTERING THE VEHICLE! 

 - PRECAUTIONS -  

DANGER 
INSPECT FOR FUEL TANK, FUEL LINES, BRAKE LINES, HIGH 

VOLTAGE BATTERIES AND ELECTRICAL LINES PRIOR TO 
DRILLINGTO AVOID DAMAGING CRITICAL VEHICLE SYSTEMS 
OR INJURY TO INSTALLER DURING INSTALLATION PROCESS! 

CAUTION 
TO AVOID DAMAGING THE VEHICLE ALWAYS 
USE DRILL STOPS WHEN DRILLING ANY IN-

STALLATION HOLES! 

1. SUBSTITUTING ADRIAN STEEL SPECIFIED FASTENERS FOR ASSEMBLY AND/OR INSTALLATION 
WILL VOID YOUR PRODUCT WARRANTY. 
 

2. ALL HOLES DRILLED INTO VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF
-ETCHING PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE. 
 

3. ALL FASTENERS USED IN THE INSTALLATION OF THIS PRODUCT SHOULD BE TIGHTENED TO THE 
TORQUE(S) SPECIFIED IN THESE INSTRUCTIONS. 
 

4. THESE INSTRUCTIONS SHOULD BE KEPT WITH THE VEHICLE. 

- IMPORTANT WARRANTY REQUIREMENTS - 

THE BASIC TOOLS NEEDED FOR MOST INSTALLATIONS 

DRILL 
DRILL BIT WITH 

STOP 
RATCHET, SOCKETS 
AND/OR WRENCHES SCREWDRIVERS MEASURING TAPE 

ADDITIONAL TOOLS MAY BE NEEDED FOR THIS INSTALLATION AND THEY WILL BE IDENTIFIED IN THE STEPS THAT FOLLOW. 



 3 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

BAG63MM 
FASTENER BAG FOR 63-MM LADDER RACK 

 



 4 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

BAG61MM 
FASTENER BAG FOR 61-MM LADDER RACK 

 



 5 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

BAG45260 ACCESSORY BAG FOR 63-MM 
BAG45261 ACCESSORY BAG FOR 61-MM 

BAG45260 FOR 63-MM 

BAG45261 FOR 61-MM 



 6 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

STEP #01: ASSEMBLE ROOF RAILS.  NOTE DIFFERENCES BETWEEN STREET AND 
CURB SIDE ROOF RAIL ASSEMBLIES!! 
INSERT (6)  35335-0 SLIDES INTO EACH ROOF RAIL (4 INTO STREET SIDE FOR 61-MM) AND (1) 
36496-0 END CAP INTO EACH END (4 TOTAL). PEEL AND STICK FOAM STRIP TO BOTTOM OF 
EACH RAIL. 

STEP #02 : ASSEMBLE 2 CROSS BOW ASMs. 
 
SLIDE WEAR INSERT INTO CROSS BOW UNTIL INNER HOLES LINE UP ON EACH 
END. FOR EASE OF ASSEMBLY, BEND WEAR INSERT TO APPROXIMATE CURVA-
TURE OF BOW WHILE INSERTING. NOTE : SOME OF THE PLASTIC WILL SHAVE 
OFF AS THIS IS AN INTERFERENCE FIT. AFTER INSERTING AS FAR AS YOU CAN 
BY HAND, OCCASIONALLY THE CAREFUL USE OF A BLOCK OF WOOD AND A 
HAMMER OR MALLET TO REACH FINISHED POSITION MAY BE NECESSARY. IN-
SERT (1) 36496-0 END CAP INTO EACH END OF EACH BOW ASM. 

RAIL ASM, CURB SIDE 
50962 

FOAM STRIP 
STICK TO BOTTOM OF RAIL 

35335-0 SLIDE 

36496-0 END CAP 

CURB SIDE SHOWN, STREET SIDE 
OPPOSITE. USE 50962 ROOF RAIL ASM 
FOR CURB SIDE, 50963 FOR STREET SIDE 

50966 WEAR INSERT 

50965 CROSS BOW 

FRONT 

47106 FOOT GASKET 
STICK UNDER EACH 
MOUNTING FOOT 



 7 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

  STEP #03 : ASSEMBLE LADDER STOPS (1 EACH RAIL) & BOWS TO ROOF RAILS 

 
 
     
 
 
 
 
 
 

 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

FAS0552 5/16 FLAT WASHER 

REAR ASSEMBLY SAME 
AS FRONT EXCEPT AS 
SHOWN. POSITION 
FRONT BOW AS 
SHOWN. REAR BOW 
POSITION WILL BE DE-
TERMINED BY THE OUT-
ER RAIL. SEE NEXT 
STEP. 

FRONT 

FRONT 

FRONT, STREET SIDE SHOWN 

37515 CLAMP PAD 

FAS0577 3/8-16 BHCS 

37268-0 LADDER STOP 

35335-0 SLIDES (REF) 

FAS0720 WASHER 

FAS0110 3/8-16 LOCKNUT 
TORQUE TO 12 FT LBS. 

FAS0243 5/16-18X2.50 HEX 
SCR TORQUE TO 10 FT LBS. 

FAS0588 5/16 LOCKWASHER (3) 

FAS0433 5/16-18 x 3.50 HEX 
SCREW TORQUE TO 10 FT LBS. 

FAS0588 5/16 LOCK WASHER 

38803 2.75” SPACER 

35335-0 SLIDE (REF) 

FAS0552 5/16 FLAT WASHER 

37597-0 1.75” SPACER 

FAS0717 5/16-18 HEX 
SCREW 
TORQUE TO 10 FT 

POSITION FRONT BOW 3”  
REAR OF FRONT OF RAIL 



 8 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

STEP #04  ASSEMBLE OUTER RAILS TO RACK 
INSTALL (2) 51363 END CAPS INTO TUBE ENDS, INSTALL LATCH ASM AS SHOWN 
AND INSTALL ASM ON RACK. 

FAS0830 5/16-18X1.25 
HEX SCREW FOR LATCH 
TORQUE TO 10 FT.LBS 

FAS0588 5/16 LOCK WSHR, 6 PLCS 

25340-0 LATCH ASM 

44421 OUTER RAIL ASM 
2 REQUIRED, FOR 63-TCL14 
USE 45258 FOR 63-TCS14 

FAS0552 5/16 FLAT WSHR, 6 PLCS 

FAS0242 5/16-18X1.50 
HEX SCREW, 4 PLCS 
TORQUE TO 10 FT.LBS 

51363 END CAP 

51363 END CAP 

FRONT 

NOTE : OUTER RAILS HAVE 5/16 
RIVNUTS IN BOTTOM SIDE FOR 
ATTACHMENT.  
 
NOTE : 61-MM USES ONLY ONE 
OUTER RAIL ASM ON CURB 
SIDE ONLY! 



 9 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

STEP #05  ASSEMBLE GRIP-LOCK MECHANISM AND INSTALL ON RACK 

FAS0577 BHCS 3/8-16X1.5 37515-0 

37286-0 GRIP-LOCK 
WELDMENT 
FOR CURB SIDE 

37517-0 END CAP 
2 PLACES 

FAS0698 ROLL PIN 
INSTALL AFTER BRACKETS 
AND BUSHINGS 

FAS0720 3/8 FLT WSHR 

FAS0110 3/8-16 LOCKNUT 
TORQUE TO 12 FT.LBS. 

FAS0234 1/4” FLT WSHR 

FAS0125 1/4-20 LOCKNUT 
TORQUE TO 8 FT.LBS 

37520-0 HANDLE ASM. 

FAS0552 5/16” FLT WSHR, 1 
EACH SIDE OF TUBE 

FAS0740 SHOULDER BOLT 

37285-0 SUPT 
BRKT 

48533 PIVOT BRKT 

38846-B BUSHING 
2 REQ’D AS SHOWN 

FAS0717 5/16-16X5/8 HEX SCR 

FAS0588 5/16 LOCK WSHR 

FAS0552 5/16  
FLT WSHR 

FAS0830 HEX SCR 

FAS0552 FLT WSHR 

FAS0588 LK WSHR 

CURB SIDE ASSEMBLY 
SHOWN, STREET SIDE OP-
POSITE FOR 63-MM ONLY. 
USE 37287-0 GRIP-LOCK 
WELDMENT ON STREET 
SIDE. 

35335-0 SLIDES 
PREVIOUSLY 
INSTALLED 



 10 

ADRIAN STEEL COMPANY WWW.ADRIANSTEEL.COM 906 JAMES STREET ADRIAN, MI 49221 800-677-2726 
 

Publication Number: 50969 Revision Level: D ECN Release:  19142 

MERCEDES METRIS G/L LDR RACKS Asm/Install Instructions 

     
 
 

 
 
 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

 
 
 
 

 
   
 

STEP #06  ASSEMBLE GRIP-LOCK RACK TO VEHICLE 

REMOVE OEM PLASTIC PLUGS  FROM THE REAR 3 PAIRS OF HOLES ON EACH SIDE OF VAN ROOF. 
THESE ARE THE ATTACHMENT POINTS FOR THE RACK. THERE ARE 4 PAIRS PER SIDE, USE ONLY THE 
3 REARMOST PAIRS. POSITION THE RACK ON ROOF AND FASTEN AS SHOWN BELOW, RAIL ASSEM-
BLIES SHOULD BE FASTENED FROM FRONT TO REAR AND PUSHED DOWN TO CONFORM TO THE 
CURVATURE OF THE ROOF. SCREWS ARE SHORT, BUT LONGER SCREWS WILL BOTTOM OUT IN OEM 
FASTENER IN ROOF AND PREVENT RACK FROM BEING COMPLETELY TIGHTENED DOWN TO ROOF!! 

 

DOUBLE-CHECK ALL FASTENER LOCATIONS TO 
BE SURE THAT ALL FASTENERS ARE TIGHTENED 

TO SPECIFICATIONS!  

FAS0268 M6-1.0X14 HEX SCREW, 12 REQ’D.  
PUSH THRU FOAM FOOT GASKET AND AP-
PLY  SILICONE TO LOWER THREADS. 
TORQUE TO 10-12 FT LBS. FAS0588 LOCK WASHER 

FAS0552 FLAT 
WASHER 

63-MM 


